
BLPI-003 No. of Printed Pages : 8 

CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 

December, 2018 

BLPI-003 : SILKWORM REARING 

Time : 2 hours 	 Maximum Marks : 50 

Note : 	(i) Answer any five questions. 

(ii) All questions carry equal marks. 

	

1. 	Answer the following in one sentence : 	10x1=10 

(a) Write Scientific name of Muga Silkworm. 

(b) How many times mulberry silkworm larva 
grows in size from egg level ? 

	

r--- 	(c) How many days fully grown matured 

	

CD 	mulberry silkworm larva takes to transform 

	

O 	in to pupa ? 
O 

(d) What is multi voltine breeds ? 

(e) Write any two popular mulberry bivoltine 
breeds. 

What is dfls ? 

How many kg of leaf is consumed/dfls in 
improved bivoltine breeds ? 

What is black boxing ? 

What is late age rearing ? 

What is Shell Ratio ? 
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2. 	Answer any five of the following : 	 5x2=10 
(a) Differentiate between male and female 

Silkworm larva. 

(b) Classify the Silkworm based on Voltinism 

(c) What is metamorphosis ? 

(d) Why Silk worm rearing house should be 
away from industrial areas ? 

(e) What do you do to eliminate the surface 
Contamination ? 

(f) Why chawki rearing is important in 
non mulberry sericulture ? 

	

3. 	Fill in the blanks : 	 10x1=10 
(a) The Mulberry Silkworm Bombyx mori L 

belongs to order 	 

(b) The 	 breeds lay non diapaure 
eggs in first generation and diapaure eggs 
in second generation. 

(c) The main food plant of Eri Silkworm is 

(d) 	 is the tropical tasar Silk insect 
reared largely in Central India. 

(e) 	  means Cleanliness or 
Sanitation which is very important for a 
healthy Silkworm Crop. 

(f) 	% Extra solution is required to 
disinfect the rearing appliances in case of 
tray rearing. 

(g) As the Silkworm larva approaches 
	  Stage it's body becomes 
lustrous and shining. 

(h) The ideal temperature and humidity for the 
recuring of second instar larvae is 
	 °C and 	 % RH. 
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(i) 
	

Realability of thin shelled cocoon is 

(j) In rotary card board mountages harvesting 
by  is rather difficult and time 
consuming. 

4. 	Write True or False : 	 10x1=10 

(a) B mori is tropical Silkworm insect reared 
largely in central India. 

(b) Break even point refers to the determination 
of the level of resources where there will be 
no loss or no profit. 

(c) Mulberry Silkworm undergoes winter sleep 
called hibernation in larval stage. 

(d) In case of irrigated mulberry garden the 
estimation of leaf is yield is done around 
35th day. 

(e) Pm x CSR2, Nistari x N1318  are the popular 
multi x Bi hybrids. 

(f) Around 38% of succers of Coccoon Crop 
has been attributed to egg quality. 

(g) The pupa is very active stage following 
inactive larval stage in the life cycle of an 
insect. 

(h) The Silkworm rearing requires a well 
ventilated rearing house with an ante-room 
to prevent entry of unfly. 

(i) Application of bed disinfectants does not 
prevent spread of germs between the larval 
within the bed. 

(j) The mulberry leaf /shoots should be 
harvested during Cooler hours of the day. 
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5. 	Answer the following in 5 - 6 sentences each : 5x2=10 
(a) Commonly used disinfectants in sericulture 

(b) Important machines used in Silkworm 
rearing. 

(c) Characteristic features of late age Silkworm. 

(d) What is Jali ? How is it need in Muga 
Silkworm rearing ? 

(e) List out different cost items involved in 
Silkworm rearing. 

6. 	Differentiate between the following : 	5x2=10 
(a) Univoltine and Bivoltine 

(b) Herold's gland and Ishiwata's gland 

(c) Temperate Tasar vs Tropical Tasar 

(d) Flimsy Cocoon and Deformed Cocoon 

(e) Renditta and Shell Ratio 

7. 	Describe Eri Silkworm Rearing 	 10 

8. 	Describe Chawki Rearing practices 	 10 
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2. 	-14-1 t_qc-i 	fwt -cifw 	1-1( 	: 	5x2=10 

(a) iitcl ii-Icchld N 141-4 14 31-d-{ TITZ •Wir- 
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(f) 1:11TA 	111d41Mpi 1:1-4tfi- d4c u1 

(g)
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&bum, e.019171 	 t I 

(b) 3T-Fzr, 	ktr t<1 	t T 

fiqrrtuT t 	7119 vr-r 	t 
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	 t 1 
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rqqf Ant I 
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(i) titdt FcRi91,14+4,*wr 	TfTrt Lm 
44T- 	 Tripzrr 	*cu.( 

-srqF 	•Wcd-r I 

(j) -krff-V 	1:1W chl qsli/Ta-r1 -9-rff: Trr 	Titzrr 

	

TFP:{ (dSch 	)t1.-1) cI41 	 

5. 	r-p-irriPAci 4 -4 	drIt 5 - 6 ata.q ..4 	: 
5x2=10 

(a) . q11-1c1.:id 41(1-1 	 7k4M -f*-R \311 

fc14;411 4 1c11 

(b) Lim-r 	3r1-wr -4=r- Trf 1:17ft4 

(c) 3ffu-4T-qr twrrwlz f#rur ..1°T I 

(d) \MIMI 	t 	if 

f-*-zfT 	 t? 

(e) - 14-1.141d   1-4 
T1 I 

	

6. 	3-dT TTEEc 1f : 

(a) fg1;175-1 

(b) 	lirgq1A-{ .-F-Vr4TET 1)T9.4zri' 

(c) 7tacar chit 3 	rikR 

(d) err 3t1-{ fa-t-u 
(e) Jr:-8d 3  civil arliiTas  

	

7. 	 auk -w11-4V. I 

5x2=10 

1 0 

8. 	-414 .kqiiichle. 	 4.1%fi- •&r-4-60 -T auk wlf-A-R1 	10 
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